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OgoiMestsdH 75 90,000 0 90,000
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CS 10,000 0 10,000

= 25,000 25,000 0
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< 15,000 15,000 0
= 184,565 184,565 0
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= 22,985 22,985 0
< 15,000 15,000 0
= 184,565 184,565 0
TESAME SASS XN 173,400 173,400 0
< 15,000 15,000 0
= 158,400 158,400 0
307 8I2t0| & 173,400 173,400 0
< 15,000 15,000 0
= 158,400 158,400 0
02 BIAANEES 173,400 173,400 0
OXAZAME SN FF 96,400,008 96,400 96,400 0
< 0 5,000 5,000
2 96,400 91,400 5,000

ONSZAME SAES X8

23 77,000,000 77,000 77,000 0
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z 62,000 67.000 ~5,000
BHSYPH (HF D) 38,086,521 38,074,984 11,537
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< 8,100 8,100 0
= 37,853, 160 37,841,623 11,537
olEegul(52) 37,652,023 37,650,486 1,537
= 225,261 225,261 0
< 8,100 8,100 0
= 37,418,662 37,417,125 1,537
IAHI(BZ) 28,478,457 28,476,920 1,537
101 @124 28,478,457 28,476,920 1,537
02 JIEtE B4 1,481,581 1,483,548 A 1,967
ozey 1,481,581 1,483,548 A 1,967
-DBRHE  FYH 1,437,149,6672 * 1.3% 18,683 20,650 A 1,967
03 I HA2ZRE S 507,226 503,722 3,504
o=oleizRga 100,907 99,737 1,170
~ugolRe  AF 1,157,362,0008 * 4.5% 52,082 50,912 1,170
ongese 33,636 33,246 390
~ggoleel  FH 1,157,362,0008 * 1.5% 17,361 16,971 390
oA Y =2HEE 66,038 65,272 766
~2goIRe  AF 1,157,362,0008 * 2.945% 34,085 33,319 766
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—agoleyl 2N 34,085,0008 * 6.55% 2,233 2,183 50
Od T 2 8 8 97,319 96, 191 1,128
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Jl=2PH (&) 48,040 38,040 10,000
405 KH&HE S| 10,000 0 10,000
01 THAtY 2 E F SH 10,000 0 10,000
OFT=2 A 2 10,000,0002 * 1CH 10,000 0 10,000
Hees(#F) 56,202 3 56,199
SRS (HF ) 56,202 3 56,199
SIEc=" 56,202 3 56,199
802 EH&H 2 DI EF 56,202 3 56,199
01 2NExZea= 46,786 0 46,786
OXEAF 2CIHI0EH X 70 0 70
OULSE NASANESHAHMNS 12| 44,738 0 44,738
OXKEA BCIUOIEH X2 Ol Kttt (2Hl) 5 0 5
ORNS2A B2 XA Ol (2H]) 3 0 3
O HE30t2 T2 22X 4 0l XFEHe(
24|) 73 0 73
ONYHHEBA AL X2 1,894 0 1,894
OXE#HMEGAIAL X 0| KB (2H]) 3 0 3
02 Al - ZHEBEZHE2 9,416 3 9,413
ORAZA XA 4,456 0 4,456
OULEE NASXNELHAHMS Q12| 1,918 0 1,918
OMOISXIZ A XE &2 3,039 0 3,039




